
  
 
 

1. Remove the rear scuff plate and lift the rear floor mat. 
 

2. Drain fuel and remove the original tank. 
 

3. Fit the fuel pump to the replacement tank and secure with the new hold down ring 
and cap screws provided. 
 

4. Check the full and empty operation of the fuel sender unit. 
 

5. Lift the tank into position, connect remaining fuel hoses, fill with fuel and check all 
hose and fittings for leaks. 
 

6. Refit stabilizer bar with spacer blocks provided. 

Installation Instructions for RR92R 
Landrover Rangerover EFI 1992-1994 
135L Replacement Tank  



                    FITTING KIT CONTENTS RR92R 
 
Brass Electrical 

    

Bolts / Nuts Misc Parts 
o 4 x M10 Nyloc nuts 
o 4 x M10 washers 
o 6 x M5 x 6mm cap screws 
o 6 x M5 washers  

o 2 x 50 x 75 x 120mm spacer blocks 
with bolts welded on 

o 1 x 50mm steel tube @ 240mm 
o 1 x fuel pump hold down ring   

Hose Clamps Cable Ties  

o 3 x 2” hose clamps 
o  2 x 1/4” hose clamps 
o 2 x 5/8” hose clamps 

o 2 x 7” cable ties  
 

Hose Sender   

o 1 x 6mm fuel hose @ 700mm   
Filters  Instruction Pages   

 2pages fitting instructions consisting of: 
o 1 x pages fitting kit contents 
o 1 x page fitting instructions 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Kit Packed By ______________   Kit Checked By _____________ 


